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e 0° < x < 360° 5L Ule (sY1 o ¥sledd) 5]
: 1 1
1 sinx=_— 2 tanx=— 3 cosx:ﬁ
V2 V3 2
x =45, x=135° x=30°x=210° x = 30°, x = 330°
4 74+9cosx=1 5 2sinx+1=0 6 |-2tanx=>35
x=131.81°, x = 228.19° x=210°, x =330° X = 116.57°, x = 296.57°

100 < x < 90° 5L ke (Y1 o ¥slaall A

7 5-2cos(4x)=4 8§ 3+4tan(2x)=6 9 13sin(3x)+1=6
5—2cos(4x) =4,0° < x < 90° X = 18.435° X=~7.54° x=52.46°
—2cos(4x) =—1
cos(4x) = %

"y, .y
6059:%30°£9£360° nalaia %)g% talaia %}!&%
= 0=60°, 6= 300°

= x=15°,x=75"

10 2(sinx—-2)+1=3sinx 11 tanx-3 (2tanx-1)=10
() X =~ 125.4°, x ~ 305.54°

12 IStanx—-7=35tanx -3 r~21.80°,x~201.80° 13 S(cosx—-1)=6+cosx ©

14 tan’x-9tanx+20=0 15 2cos’x—cosx=0
(tan x —4)(tan x—5) =0 cosx (2cosx—1)=0
fanx=4 = x = 75.96°, x = 255.96° cosx=0=x=90", x=270°
tanx=5= x=78.69°, x =~ 258.69° cos x = 0.5= x=60°, x = 300°
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. 4sinx-3sinx=1
(sinx —1)(4sinx+ 1) =0
sinx=1=x=90"
sinx= —0.25 = x = 194.48° , x = 345.52°

. 4cos?x—4=15cosx x=104.48°,

X = 255.52°

B

d=190cos 8 ,d= 60 cos (90°—8)

= 90 cos 8 = 60 cos (90°—0)

= 90 cos 6 = 60 sin # = tan 9:%
= 6= 56.31°

d =90 cos 56.31° = 50 m
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. 2sinfx—1=0

x =45, x=135°
X =225",x=315°

. CoOsX=sinx x=45° x = 225°
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118 = —60 cos(30x) + 110
= —60 cos(30x) = 8

= cos(0) = 15 = 6= 97.66° or 262.34°

5

= X = 3.26° ,x = 8.74°
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49 =27 —25cos @
= cos 8=-0.88
= 0= 151.64° or 6= 208.36°
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(40)*sin(26) Lol
9.8

= sin(20) =~ 0.674

= sin(x) = 0.674 o
® ot

= x~ 4238 or x=~ 137.62° walaio 3,9%‘

= 6~21.19° or 6=~ 68.81° REN

110 =

s « 0= 45" Ladis 2kE dal O 5da) ey

~ (40)sin(90°) 1600 x 1

a 9.8 9.8

~ 163.27 m
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0° < x < 360° = 25in X cOs X = sinx dstaall Jle s ew bo S 15 Uasdt DizsT 34
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.0°$x5360°£ﬂ{bl.19¢2 sinxcosx+sinx+2cosx+ 1 =0:§J;MIJ§-T:L§ 25
2sinxcosx+sinx+2cosx+1=0

sinx(2cosx+1)+2cosx+1=0

(2cosx+1)(sinx+1)=0 alai .%¥&

-1
Cosx:T:x: 120° , x=240°

sinx=—1=x=270°
s 2 I ¢
0°<x < 360°: - cos X —sinx — 1 = 0:dsladl J sl 30s 301 10w 26
cosx—sinx=1
o ¥ \e =1 sinx=20 U2
. .70( 3 COS X \ ._.)a(.
nalaia %(,e% =x=0" , x=360° walaia g;jp@
’ cosx=0 , sinx= -1 R
= x=270°
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